[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

—— - - -

TrackingParticles
Reconstructed TPs

LOL--d-m bl
‘O +-vo i i N o
I Hifitt it itadiAr NN I
214 RO B AR 214
T 1 Il 1 1 1 Il 1 Il \
AEY “EGNANELD Il I
AR AR BB " [ R H
%5 - 05 =50-15-10 =5 0 5 10 15 20 25
TP dxy PV) (cm TP dxy(PV) (cm)
—=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN
[N of sim] — DQM_V0001_R000000001_Global__CMSSW_X_Y_Z_all
1] 1J
Q@ o
S =
5 10° 3
2 E
g 2
© 10 o
= 3
@
10°
10% :
10L--i-n-beeehe s e
‘o +vo i T o AT e |
g I NN 5 ROAaHE et AUttt l
14 EEAMHHARHHA AL AITAAE TR o AR A HRAAIALA 1R
R TR R BT T
1 I 1 I I I I I Il 1 I Il I Il I I I I [
1 I 1 I I I I I I 1 I I I I I I I I [
1101 11 L
0.0 LY ! AN o sl ! BIAGE R G
-1-0.8-0.604-02 0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.2 O 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
s Q
8 I =
B N S o
g1 £10
g F * 2
2 g
& 104 [EEEEE CEREERT P ERE teeees &
= F o
F x 10

o v
T
o
10 20 30 0'—(50 -20 -10 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2
@ o
8 =
510° B
g E
S, 2
& 10 Is]
= 3
4
10°
10?
Qv i=}
T I
o o
0.95 0.95

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


